
SAP ABAP table TPTCOR_KOSTL {Cost Assignment (Correction Scenario)}

TPTCOR_KOSTL

MANDT [CLNT (3)]

ITEM_ID [CHAR (32)]

KSTRG [CHAR (12)]

NPLNR [CHAR (12)]

KDAUF [CHAR (10)]

DART [CHAR (2)]

UDART [CHAR (2)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]
 TPTCOR_KOSTL-NPLNR = AUFK-AUFNR 0..N

0..N

CKPH

MANDT [CLNT (3)]

KSTRG [CHAR (12)]

DATBI [DATS (8)]
 TPTCOR_KOSTL-KSTRG = CKPH-KSTRG 0..N

0..N

T5D7C

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

ENDDA [DATS (8)]

 TPTCOR_KOSTL-DART = T5D7C-DART 
0..N0..N

T5D7E

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

UDART [CHAR (2)]

ENDDA [DATS (8)]

 TPTCOR_KOSTL-UDART = T5D7E-UDART 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 TPTCOR_KOSTL-KDAUF = VBUK-VBELN 

0..N

0..N


